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L. xm»M2: order of end of day of nTay is PAN>NoLa>NMOP> MM
a. Rationale: noa is defined as being brought at 29 (v. 1) and y”na (v. 2); Tnn is only "o'23vn 12" (v. 3)
b. Challenge: noa should then be the last of the day — after nmvp 17n; only Noa is 19p+y”na
c. Answer: text marks m1 (and, by analogy, nmop) as the latest n'may (v. 4)
d. an»7x follows assumption of question — noa is final nmay of the day
i. Challenge: exclusivity of ymr (v. 4)
ii. Answer: 1M excludes nmop (v. 5 allows that nmop may have been last - even after nm)
1.And: v. 5 is interpreted to mean that when lighting the m), the nmp should already be enflamed
II.  xnia: brackets of day of nmay
a. morning: nothing precedes 1w Y Tnn ("paa” —v. 3) except for VP ("pPaa Ppaa” - v. 6)
b. evening: nothing follows »”na Y® Tnn except M vp, M3, Noa and...
i. prnas 7o who forgot to bring his 1993 before ¥"na Y¥ 1N on 1v711 7 — to allow him to eat nva
1.27207 5w 123 S8y /7. M2 70NN any day of the year (if his n993 wasn’t brought before »”na Yv 1nn)
a) Analysis: we understand p”n; noaT nwy trumps NNYWNT NWY — but what is *’s rationale?
i. ~7Dn 7. referent is a poor y71¥n who brings 91yn nrvn (only 07T goes to Narm->no violation of Nn5wn)
1.Must have: already brought y11x¥n nwx (v13)
2.Uniquely (per v9): y12n n%Y is brought before nkvn (and must have already been brought)
a.Note: generally, nkon precedes n9y, per vv. 7-8
ii. 9”7 ©1n) place animal atop nam and burn it the next day
1.Challengel (838 72 jpw “7): D13 may err and offer it that day
a.Block: 10 a1 oand
2.Challenge2: 193 *y01Nn gain nothing by placing atop nam without n1vpn
a. Reason: no expiation with 0"n3 eating (v. 11); and no eating before burning (v. 10)
b. Answer: since it is forbidden to burn, regarded similar to ™ 1°Rn 18NV
i. Therefore: D103 eat before nMvpn
III. internal contradictions regarding n1opn and m%n
a. N272 “1.v. 12 implies allowance to leave 127p burning all night — against
i. ©v13:implies that all must be burnt before y”na v 1nn is brought
ii. resolution: if it wasn’t completely burned by time of »"na v Tnn
b. (275) 8790 ’7. v. 14 implies that 59”p may be burnt all night — against
i. 015: implies that 910 N5y (including 5”p) may not be burnt on v"y (that night)
ii. resolution (37): verse refers to nawa Ynw 19711 T — the 8”p is Naw NYY
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